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SET-1
Series BVM/2 o Nz. 64/2/1
e .
Roll No. j‘?aﬁwﬁg@aﬁ e + TP

Candidates must write the Code on the
title page of the answer-book.

o THUAT I R W foh 38 Y97 H Hlgd I8 12 § qAT 2 I8 HH(H % 3 |

o TH-TA H M T A AR U MU He T H BH IW-Ifedh &k EIE W
forg |

o HYA T B W foh 3 THA-TAH 22 T F |

o HUAT T HT IW 1T I[E HI | UgeA, T T ThHTeh 7994 o1 |

o U YH-UA HI UG oh [T 15 e 1 T5F o T 8 | WA-IH 1 T gaig
T 10.15 & fohaT ST | 10.15 &1 & 10.30 S b DT shad I¥H-US hl Ugn
3TN 39 7afer & R 3 IT-YfEdehl W HIg ST &1 for@ |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)
GEOGRAPHY (Theory)
fAeriRa aar - 3 o2 3TEIHTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70

64121 _ P.T.O..
https://www.evidyarthi.in/



=] il [m]
=]

TTHT=T 13397 :

(i) FHIT-TTHFA22 I8 |

(i) U eT AR & |

(i) T &1 7 3fd TG-IF0T Fe7 8 | TP FoT 1 3% H 8 | F4H Jo7
IR 40 vIs5] @ 3718 787 &7 =05 |

(iv) To7 &7 8 @13 G-I J97 8 | I3 T97 3 37 & & | T4 o7 HT
I 80 - 100 I3 & e 757 &7 =137 |

(v) ¥ G&IT 14 T 20 F-3FT I97 & | TF J97 5 37 HT 8 | JAF 9 HT
IR 150 V5l & 3719 787 F7 =T7T |

(vi) ¥I7 G&IT 21 4¥Tifcis &I 1 s 7T 3H% FIH orgd & gafad 8 g
q&IT 22 i @& #1 15T # 39y 8] @ g @ gefad 2 | g%
Y975 3% FTE |

(vii) ST9H! 13T T fava TuT GRa & @-TrafaAl F FT-JIEdH & GAT T
X/

(viii) IGI-FAIE & Gl & 77 RIf-aeT 1 2Taeied & I71T 1 3FHIT & Il
g1

General Instructions :
(1) There are 22 questions in all.
(it)  All questions are compulsory.

(iit) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5§ marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5§ marks each.

(vii) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.

64121 2 . .
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SECTION A

1. A9 % 3k i | form argura for & fore ergeet i 2 2 18 U Hror Tase
T | 1

Why is sex ratio favourable to women in many European countries ?
Explain any one reason.

2. TEYE-3A-gh g U hHi T3, AHG ok’ shi Agrun i W@ i | 1
Examine the concept of ‘human development’ as introduced by
Mahbub-ul-Haq.

3. dgr ¥ yriu afcqEl % Waw uloed’ K fedl @ fomivast w1 sgw@
5|§||§IQI i+i=1
ST z2 2

gar § gefior ofeqEl % ‘HEaeeR gfawd’ o fedl @ fomivareti w1 sg@
Wl i+£=1

2 2
Mention any two characteristics of linear pattern’ of rural settlements in
the world.
OR
Mention any two characteristics of ‘rectangular pattern’ of rural
settlements in the world.

4.  ‘Tafeem wiea’ = g fafau | 1
Write the meaning of ‘medical tourism’.

5.  SIGTG I HHE (I o (TI.E1.971E.) U gad = Tom &= 8 2 1
Why has Chhattisgarh recorded the lowest level in the Human
Development Index (H.D.I.) ?

6. WA ¥ St hl UG % BT o foheal g1 HRUN T 3@ HIFT | é+£=

2
AT
R | 9 & e <l foredt < faftrn v sg@ ifs | é+£=
2
Mention any two reasons for the deterioration of water quality in India.
OR

Mention any two methods for the conservation of water in India.
647211 3 ., _PTO.
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1Y YGUI, WiHe TaTeed i fohd TehR TwIford il 8 ? 1

AT

e+ YGUUT, A TaTeed I fohe JepR YT el & ? 1

How does air pollution affect human health ?

OR

How does noise pollution affect human health ?

RCLERC)
SECTION B

“ara gEreEl o T T whid W R ¥, S 3= Sifad s et 7 17

3 $o hH W@ I | 3

HAAAT

“Sepfar 1 T SENRTERT Wi fosRfad W o 1fd w2 17 39 wed i
@ T | 3

“Human beings are directly dependent on nature for resources which
sustain them.” Examine the statement.

OR

“The knowledge about nature is extremely important to develop
technology.” Examine the statement.

2 T3 difetent 1 TeIEA KU 31 35 = few o yo i & IR fafew @ 147+1=3

19 : ST SR 917 (.09, 59 @Rg el H)

BRG]
el SR AT

T
el AT HIA

1955 95,000 99,000

1965 1,90,000 1,99,000

1975 8,77,000 9,12,000

1985 19,54,000 20,15,000

1995 51,62,000 52,92,000

2005 1,03,93,000 1,07,53,000

2015

1,55,83,232 1,56,28,204

9.1)
(9.2)
(9.3)

SR I HH-A1 &Y (I8e]) 16l ghg I T & 2
1 FHol AR < qHATT H Jig g3 A1 Hl g3 ?
T 1 FoRAT ST @ 2 o8 &1 R Al |

’ https://www.evidyarthi.in/



Study the following table and answer the questions that follow :
World : Imports and Exports (in millions of U.S. $)

Exports Imports
Total Merchandise | Total Merchandise
1955 95,000 99,000
1965 1,90,000 1,99,000
1975 8,77,000 9,12,000
1985 19,54,000 20,15,000
1995 51,62,000 52,92,000
2005 1,03,93,000 1,07,53,000
2015 1,55,83,232 1,56,28,204
(9.1) Which aspect of trade has shown rapid growth ?
(9.2) Has the total volume of trade increased or decreased ?

(9.3) Why does import take place ? Write any two reasons.

iz :  Frfcikaa o7 Fac giearaa gagmiaal & 79, 397 G819 & 9 W
Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :

TS SATIR o - HEw@Ul 83Tl ohl SATEAT iU | 1x3=3

Explain three important aspects of international trade.

10.  “1901 & 1921 I FaY FI WRA hH1 TG Jhg I &g a1 R J=een +
®9 § ST SITAT 2 |7 56 SHeH sl JHIE T | 3
“The period from 1901 to 1921 is referred to as a stagnant phase of
India’s population growth.” Substantiate the statement.

11. Y9® % ®RU U9 gEhpfdal & A % A" H§ Fen-ge 8 feE TR
HhWIcHeh oo Tohe BId & ? SATEAT FHIT | 3

How does intermixing of people from diverse cultures due to migration
have positive values ? Explain.

12. A A o GRH YRA | AETehielE TR < foehd 1 9o Hif | 3
arera
fofest a6 SRH, YR & engfs TR & fowE &1 auH FHif | 3

Describe the development of medieval towns in India during the Mughal
period.

OR
Describe the development of modern towns in India during the British
period.

64121 5 _ P.T.O..
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13. feu wu amfes &1 grauriyds sterem fifve 3t 3ue = i T yw i & 3w
fofa - 1+1+1=3
R 2 bner S
gfen meft =

Fiprrrprpt!

T

W argRT

{
|

1
w3 o 3 omaA\

39 T8 % IQT & Al g T |

(13.1)
(13.2) 39 T8 I QI &7 IcATqh =18 o F=id Fi 7l & ?
30 8L T HATS & o foIu i Hawa Tuse i |

(13.3)
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Study the given map carefully and answer the questions that follow :
|

=

INDIRA GANDHI CANAL
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(13.1) Mention the source of origin of this canal.
(13.2) Why is the area to the east of the canal under lift irrigation ?

(13.3) Explain the economic significance of this canal for the command

area.

641211 7 _ P.T.O.
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e :  HElciEd J97 I gieanad ghemteEl & 77, 397 T8I 13 % T W8

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 13 :

“gfer Tt 8t < g T89S % THR § T8 HATS & B sraEd Ty
9§ EYING &1 T8 & |7 39 I H T HIWT | 1x3=3

“Introduction of irrigation through Indira Gandhi Canal has brought
about a visible change in the agricultural economy of the canal command
area.” Explain the statement.

Qus
SECTION C
14. YUR § SHEEA & o0 Sl TWIGa i el 3TTeeh 37X HEehidsh hRel i
ST HIT | 3+2=5

Explain the economic and cultural factors that influence the distribution
of population in the world.

15. HER ¥ FqUivisdeh IE ITeH fohdl TR Ush fafsme wfafafe 59 7 8 2 e
Tfgd Tse IR | Ix5=5

Explain with examples how commercial livestock rearing has become a
specialised activity in the world.

16. TER T ‘B U0 & 3TN IR T8 I & I H = T Hify | Ix5=5
AYAT
TR H HiV-M9Tia e 3R GHS-31aTG ST H 3T $95¢ hIT | Ix5=5

Differentiate between ‘small scale manufacturing’ and ‘large scale
manufacturing’ in the world.

OR

Differentiate between agro-based industries and mineral-based
industries in the world.

17. ‘“UR-HEEiET @R o AEW Sl 9UH ShifST | 5
AUAT
“UR-hafed Tmt’ & Haw o1 9ui ki | 5
Describe the significance of “Trans-Siberian Railway’.
OR

Describe the significance of ‘Trans-Canadian Railway’.
641211, 8 . .
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18. 9Rd H ‘MY F WA 4 FHiV o Icd1ed H fohd ThR Tgwqul gig i
2 ? 3 Afed Te HIFAT | 1x5=5

Explain with examples how ‘modern agricultural technology’ has brought

a significant increase in agricultural output in India.

19. “9Nd § HI1 % AWWA @A AUH [Tohre 3R TG0 TR oAl I9Aed]

HAU |7 39 hIA hHl WG HITU | 5
SreraT

“Trd & T & T @it GETeEl 1 S0 KT STcaETEs & |7 39 %Y

&1 W@ iU | 5

“The non-conventional sources of energy in India will provide more
sustained and environment friendly energy.” Examine the statement.

OR
“Conservation of mineral resources is essential for the development of
India.” Examine the statement.

20. “YRd W-IT GO & Gt ar 9 STl § 8 Tk @ 31 38 e %
aifefes forepra § wEwaqul ATeE o 7 17 59 e i gfee Fifvw | 3+2=5

“Indian railways network is one of the longest networks of the world and

has contributed a lot to the growth of the economy.” Support the

statement.

21. ¥WER % fu U geHifos W@amteE (98 13 W), § 9i9 AWiicis aeon i
A, B, C,D 3R E ¥ fe@mn T 8 | 39 ygaH Fefdfiad MRl it dee &

FHIfSTT 3T 3Tk T AW 3T I Tt 715 W@l W ffew - Ix5=5
A, TIER YR 6T &
B. s wem
C. 3I=AUSIY gaTs U
D. #m &
E. URAggHE @r % B %1 wwH
64/2/1,

9 _ P.T.O.
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On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An area of nomadic herding

An industrial region

An international airport

A mega city

"o a W

The terminal station of “Trans-Continental Railway’

g :  HElcnEd 3vT @9 giREraa whenidal & g, yv7 aear 21 @& T
WE

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 3ThTeRT B fopelt Ueh Tctamelt SRR &3 i 3g@ hIT |

(21.2) 9 & Torelt T Sireiifire e &1 9 fafEm |

(21.3) GIH U AT & Topell T ST=isE gaTs U< o1 4 feafw |

(21.4) A & foreft T T &Y 61 9w fafew |

(21.5) UR-GTESRE toWnl o foreft T R % TevM &1 am fafem | 1x5=5

(21.1) Mention any one area of nomadic herding in Africa.
(21.2) Name any one industrial region of Europe.

(21.3) Name any one international airport of the United States of
America.

(21.4) Name any one mega city of Brazil.
(21.5) Name any one terminal station of Trans-Siberian Railway.
641211, 10 . .
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22. WA % U U TSI W@-AERE (I8 15 W), § Fefafed 9 9 fast o
Miferes @eTun =1 fo@msy oK 37 AW fafau Ix5=5

(22.1) fEsm S 1 10 TieRA 8 e e ara el
(22.2) HUTE I U IcTGh TS

(22.3) USE H HIFAIR TS TTeh

(22.4) glaoT (Wed) T AvSH S &I

(22.5) WEh H AU gATG ITH

(22.6) TSWIG § Y@ g 9T

(22.7) @de! H qlel @H

(22.8) RIS % FEH HA T ATAT T

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) :

(22.1) The city with more than 10 million population in West Bengal

(22.2) The leading producer State of cotton

(22.3) The software technology park in Punjab

(22.4) The Headquarter of Southern Railway Zone

(22.5) The international airport in Karnataka

(22.6) The major seaport in Gujarat

(22.7) Khetri copper mines

(22.8) The State with lowest level of urbanisation
641211 11 P.T.0.
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g :  HAElciEa 397 e giEEad ghentdel & 070, 397 G&r 22 @ T W
& | &®IF Ui 397 57 FHE |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) Ufvem s ° feuq 10 fafera @ stfees S99 o 38t 61 9m
ffau |

(22.2) HRA ® -9 TSI HUH H1 YU Icq1eh 2 ?

(22.3) UE § fE¥d GiFea=R TaIcAiS UTeh o1 9 fIfau |

(22.4) Tfequr (UeH) & HUSH T GEATTH HH-TT1 8 ?

(22.5) ohdieeh § fEuq TS IT §aT8 U= ol AW fIRau |

(22.6) oA B o yg@ gt a1 AW faRaw |

(22.7) @A I diar @H WRa & fopm U= H fedra g 2

(22.8) WA o TR & T HY TR dTel T 1 9 foAfgn | Ix5=5

(22.1) Name the city located in West Bengal having more than 10
million population.

(22.2)  Which is the leading producer State of cotton in India ?

(22.3) Name the software technology park located in Punjab.

(22.4) Which is the Headquarter of Southern Railway Zone ?

(22.5) Name the international airport located in Karnataka.

(22.6) Name the major seaport located in Gujarat.

(22.7) In which State of India are Khetri copper mines located ?

(22.8) Name the State of India having the lowest level of urbanization.

641211 12 . ..
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WORLD-POLITICAL

For question no. 21
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I F. 22 % fow For question no. 22
WA hT F@T-UH e (T iferes)
Outline Map of India (Political)
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